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QUESTION 1

In ASE 15, what is the relationship between the virtual device number chosen for a device and the number of devices
configuration parameter?

A. None

B. One of the chosen device numbers must equal the parametervaluE.

C. All virtual device numbers must be a factor of the parametervalukE.

D. The maximum virtual device number allowed is the value of the parameter minus 1.

Correct Answer: A

QUESTION 2

Which of the following may be performed against a database created with the for load clause? (Choose 3)
A. alter database for load

B. drop database

C. dump database

D. load database

E. sp_changedbowner

Correct Answer. ABD

QUESTION 3

How is a deadlock victim determined?

A. By theusers permission settings

B. By the largestspid number of the processes involved

C. By the amount of elapsed time since the task was submitted
D. By the amount of the CPU time spent on the task

Correct Answer: D

QUESTION 4

What is the maximum configurable buffer pool size for a server configured with an 8Kpage size?
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A. 8K

B. 16K
C. 32K
D. 64K
E. 128KX

Correct Answer: D

QUESTION 5

Why should data and log be located on separate devices? (Choose 2)
A. to ensure recoverability

B. reuse of space efficiently

C. ease of maintenance

D. improves performance

E. improvesdbcc checkstorage performance

Correct Answer: AD

QUESTION 6

Which of these minimally logged operations will NOT prevent a transaction log dump?
A. select into

B. truncate table

C. fast bcp

D. create index parallel

E. writetext

F. reorg rebuild

Correct Answer: B

QUESTION 7
Which of the following statements are NOT true about database dumps? (Choose 2)

A. performs a checkpoint
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B. backs up the transaction log

C. truncates the transaction log

D. may dump unallocated pages

E. cannot be run while anyone is in the database

Correct Answer: CE

QUESTION 8

Which of the following can NOT be done by a dbo? (Choose 2)
A. create a database

B. create database objects

C. use database objects

D. grant permission to grant permission

E. transfer object ownership

Correct Answer: AE

QUESTION 9

Which of the following databases is used to store Job Scheduler information?
A. sybmigratedb

B. sybmgmtdb

C. sybsecurity

D. sybsystemdb

Correct Answer: B

QUESTION 10

Cursors can now be declared as which of the following? (Choose 4)
A. scrollable

B. forward_only

C. backward_only

D. non-scrollable
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E. insensitive
F. semi-sensitive

Correct Answer: ADEF

QUESTION 11

Automatic database expansion

A. can be configured to run diskinit.

B. is configured viasp_dbextenD.

C. is only available on file system devices, NOT raw patrtitions.
D. is only available on system databases.

E. occurs by default on user databases.

Correct Answer: B

QUESTION 12

What can be used to examine partition skews? (Choose 2)
A. sp_helpdb

B. sp_helpartition

C. sp_help

D. optdiag

E. reorg

Correct Answer: BC

QUESTION 13

Which of following are NOT captured by query plan metrics? (Choose 2)
A. CPU execution time

B. Index access method

C. Join order

D. Logical I/O

E. Physical I/0
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Correct Answer: BC

QUESTION 14

What is the largest I/O size that ASE supports?
A. 1 page

B. 2 pages

C. 4 pages

D. 8 pages

E. depends on the server page size

Correct Answer: D

QUESTION 15

What is the maximum system device size which ASE 15.0 can support?
A.1TB

B.2TB

C.47TB

D.6TB

Correct Answer: C
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